Discovery 2 Module 2 Exam Picture descriptions

Refer to the exhibit. Host A is unable to communicate with any other hosts.
Diagram depicts a small network with 2 routers, 2 switches, 2 hosts and a DHCP server. Host A and the DHCP server connect to a switch that in turn connects to router A (RTA) RTA connects to router B (RTB) which in turn connects to a switch and then host B. The output of the ipconfig command is shown:

Ethernet adapter local area network

Connection specific DNS suffix:

IP address …. :169.254.1.101

Subnet mask…. :255.255.0.0

Default gateway….:
